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teorema	di	Gauss
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cariche	nei	conduttori
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sfera	carica	in	guscio	sferico	neutro



come	ottenere	un	condensatore	sferico



CONDENSATORE	SFERICO

l’unica	regione	dello	spazio	in	cui	c’è	campo	
elettrostatico	è	fra	la	superficie	della	sfera	
(raggio	R1)	e	la	superficie	interna	del	guscio	
(raggio	R2):	E =

)
@ABCDE

rF

VG = VH + I −
Q

4πε/r*
dr = VH +

Q
4πε/

KE

KL

1
R*

−
1
R)

VH = VG + I −
Q

4πε/r*
dr

KL

KE
	= VG +

Q
4πε/

1
R)

−
1
R*

VH−VG= +
Q

4πε/
1
R)

−
1
R*

VH−VG= +
Q

4πε/
1
R)

−
1
R*

C =
Q

VH −VG
=

4πε/
1
R)

− 1
R*

= 4πε/
R)R*
R* − R)

oppure

per	ottenere	un’elevata	capacità	occorre	minimizzare	la	
separazione	fra	le	due	distribuzioni	di	carica


